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1. HDF TSDIS

1.1. HDF
TRMM HDF (Hierarchical Data Format) HDF National
Center for Supercomputing Applications (NCSA) HDF
C NCSA HDF
HDF
HDF ! HDF4.1r4 HDF
UNIX Linux PC Macintosh HDF4.1r4
HDF4.1r3
TRMM HDF4.0r2
NCSA EORC SGI  Linux HDF4.1r4
HDF Web
HDF
http://hdf.ncsa.uiuc.edu/
HDF4.1r4
ftp://ftp.ncsa.uiuc.edu/HDF/HDF/HDF_Current/bin
HDF4.1r4
ftp://ftp.ncsa.uiuc.edu/HDF/HDF/HDF_Current/tar
HDF4.1r3
ftp://ftp.ncsa.uiuc.edu/HDF/HDF/prev-releases/HDF4.1r3
http://hdf.ncsa.uiuc.edu/doc.html
FAQ
http://hdf.ncsa.uiuc.edu/HDF-FAQ.html
HDF
1.2. TSDIS
HDF C
HDF TRMM NASA
' 2001/1/5 1998/11/6 HDF5 Ver.1.0.0 2001/1/5 Ver.1.2.2
TSDIS HDF4 HDF4.0r2 HDF4



TSDIS (TRMM Science Data and Information System)

TRMM GV Ground Validation
TRMM
TRMM
! ID

2 TSDIS Toolkit Release 5.7
(SunOS 4.1.3, Solaris 2.6), HP HP-UX 110 , DEC Alpha, SGI IRIX 6.5
FreeBSD
Web

HDF

Sun
Linux

http://www-tsdis.gsfc.nasa.gov/tsdis/tsdistk.html

http://www-tsdis.gsfc.nasa.gov/cgi-bin/download
Toolkit

Toolkit

http:/imww-tsdis.gsfc.nasa.gov/tsdis/Documents/ICSVol2.pdf

http://mww-tsdis.gsfc.nasa.gov/tsdis/Documents/ParameterDictionary. pdf

NASA/TSDIS

TSDIS
HDF TRMM HDF
HDF HDF  Web
HDF
4
3
1
2 2001/1/5 D 5
TSDIS Toolkit 4.9.1
3 include IO_PR.h, 10_TMLh

4

TRMM

TRMM



HDF4.1r2

Platform (OS) C-Compiler Fortran-Compiler

Sun4 (Solaris 2.7) Workshop Compilers C Workshop Compilers 5.0
50 FORTRAN 77 5.0

Sun4 (Solaris 2.6) Workshop Compilers C Workshop Compilers 5.0
50 FORTRAN 77 5.0

SGI-Indy (IRIX v6.5) CC7.30 fr7 7.30

SGI-Origin (IRIX64 v6.5-n32) CC 7.31m f77 7.3.1m

SGI-Origin (IRIX64 v6.5-64) CC7.3.1m f77 7.3.1m

HP9000/755 (HP-UX B.11.0) CC A11.00.13 f77 B.11.00.01

Exemplar (HP-UX B.10.01) CC V20 f77 V1.2.6

Cray J90 (bob.1 10.0.0.7) CC6.302 Cray Fortran 3.4.0.1.0

IBM SP (single node, v4.3) XLC 5.0.10 f77 0701.0000.0002

DEC Alpha/Digital Unix v4.0
DEC Alpha/OpenVMS AXP v7.1
VAX OpenVMS v6.2
IBM PC - Intel Pentium
Solarisx86 (2.5.1)
Linux (2.2.16)
FreeBSD (4.1.1)
Windows NT/98/2000 ™

DEC C v5.2-040
DEC C v5.6-003
DEC C52

GCC 272
GCC 2952
GCC 2952
MSVC++ 6.0

Digital Fortran v4.1-92

Digital Fortran 77 X7.1-156

DEC Fortran v6.3

Not Tested

g77 0.5.25

GNU 77 V0.5.25

DEC Visual Fortran 6.0

T3E (sn6711 2.0.539b) Cray CC 6.3.0.2 Cray Fortran 3.4.0.1.0
* J90 HDF
**  Windows fp2hdf
) NCSA HDF
C "Not Tested"



2. HDF TSDIS

2.1. HDF
HDF HDF4.1r4
HDF4.0r2 HDFA4.1r4
(ON NCSA
HDF4.1r4
HDF4.1r4
HDF4.1r4
Linux SGI 213
2.1.1. HDF4.1r4
NCSA oS
HDF4.1r4 pre-compiled binary HDF
root
Web Netscape InternetExplorer URL

ftp://ftp.ncsa.uiuc.edu/HDF/HDF/HDF_Current/bin/

(OF
anonymous ftp NCSA
% ftp ftp.ncsa.uiuc.edu
P nslookup

% ftp 141.142.2.37




NCSA anonymous ftp

26

anonymous
Sun

Solaris

ftp> cd /HDF/HDF/HDF_Current/bin/solaris
ftp> bin

ftp> get 4.1r4-solaris .tar.gz

ftp> bye

ftp

% gzip -cd 4.1r4-solaris.tar.gz | tar xvf -

HDF4.1r4 -solaris

HDF4.1r4-solaris/COPYING Copyright
/README
/bin/ HDF
finclude/
flib/
/man/
/release notes/ HDF

HDF4.1r4-solaris

% cp -r HDF4.1r4-solaris < >

2.1.2. HDF4.1r4

HDF4.1r4

ANSI C
GNU ANSI gcc HDF
gcce
HDF4.1r4

HDF4.1r4.tar.gz

HDF4.1r4

ANSI C

Web

anonymous ftp

% gzip -cd HDF4.1r4.tar.gz | tar xvf -

HDF4.1r4



HDF4.1r4/COPYING
/INSTALL
IMAKEVMS.COM
/Makefile.in
/README
/Win32.nofortran.zip
/Win32.zip
/config.guess
/config.sub
/config/
/configure
/configure.in
/hdf/

/install-sh

/man/

/mfhdf/
/mkinstalldirs
/move-if-change
/release_notes/

Makefile
Makefile configure

configure
CFLAG
mh-solaris
configure

/usr/local/man, /usr/local/include
libjpeg.a /usr/local/lib

Makefile CcC
HDF4.1r4/config/mh-<0S> OS Solaris2.6

/usr/local
/usr/local/lib, /usr/local/bin,

HDF4.1r4

% ./configure -v --prefix=/home/trmm211/work/HDF4.1r4

prefix
Makefile

% make

% make test

% make test >& make.test.out




% make install

2.1.3. HDF4
® SGl
(1) IRIX (Indy) oS IRIX 6.x 32 od 32

-032 new 32 -n32 -032 -n32

HDF C -n32

-032 HDF4.1r4/config/mh-irix32 configure

(2) IRIX64 (Origin) 32 64 -032 -n32 -64
HDF4.1r4 -64 -n32 configure

% ./configure irix6_32 -v --prefix=/home/trmm211/work/HDF4.1r4

-032 HDF4.1r4 /config/mh -irix6 configre
HDF4.1r4/config/mh-irix6_32 configure irix6_32
configure
2.2. TSDIS
TSDIS Web
E Download Files
TSDIS Release 5.7*
Toolkit Installation Guide Toolkit  Distribution
57 INSTALL.R57 Topographic and

Land/Sea Data

% zcat toolkit_r57.tar.Z | tar xvf -
% zcat tsdistk_data.tar.Z | tar xvf -

toolkit 5.7 data data
toolkit 5.7
% mv data toolkit 5.7/
toolkit 5.7
' 2000/2/15 D 5 TRMM TRMM 1999/11/1
Web



Int t

| ZeAlE REE wRW BREANG W=D AL

R | a ‘ EEN - %
=) JEE ik B h—ta twE  HRLAD FERE A=l A 7 Ef1fl
J PELAD! I@ http:/ Awnn-tedis g2fe naza gov Aoei-binddovnload j 158 | I 30

=]
Toolkit Distribution

The followine files can be downloaded from the TSDIS Toolkit server. For more information, please see the REAME file.

Releaze 5.0 incorporates all the reprocessing changes, including backward compatibility issues.

Feleaze 5.1 fixes a memory problem with real time data on the Sun platform.

Releaze 5.2 fixes a GV configuration file problem.

Releaze 5.3 changes the 3A11 variables noCfSamples and chiSgFit fram int16 to int32.

Releaze 5.4 allows GV to read/write Software Version in metadata.

Releaze 5.5 fixes scaling problems for 1B01 localDirection and 2B371 rrSurf.

Releaze 5.6 containg miscellaneous TSDIS internal changes.

Feleaze 5.7 containg 3425 confie changes to pialDev, pia2aZ2BMean, and pia2a2E5Dev, out of order.

TSDIS Toolkit — Release 3.7

e Toolkit hstallation Guide
» Toolkit Release 5.7 Distribution $oolkit.r57 tar. 20
» Topoeraphic and Land/Sea Data

s llE

&) A—ThETEnELE [ @ Ava—dob

TSDIS
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toolkit_5.7/CHANGELOG

ICOMPILING

/INSTALL.R57

IMAKE.ALPHA DECAIpha Makefile
IMAKE.HP9 HP Makefile
IMAKE.LINUX Linux Makefile
IMAKE.SGI SGlI Makefile

IMAKE.SOLARIS25 Solaris2.5 Makefile
/IMAKE.SUNOS414 SUNOS4.1.4 Makefile
INASDA INSTALL TSDIS

/README

/RELEASE.NOTES

[TESTING.MATRIX

/config configuration
/data etop05.dat dbglobe93.grd
/db TSDIS ASCII
/include include
/Nlib
Isrc
MAKE<OS> Solaris
MAKE.SOLARIS25 Makefile Solaris
% cp MAKE.SOLARIS25 Makefile
Makefile HDFINC HDF include
HDF /home/trmm11/work/HDF4.1r4 solaris/

HHH R R R R R R R R R R R
# Please modify the following path as described above.
AR

HDFINC = /data/HDF/HDF4.0r2/hdff/include

HDFINC = /home/trmm11/work/HDF4.1r4_solaris/include

NASA/TSDIS ASCII
CFLAGS, FFLAGS

11




# Define the C compiler, flags and compiling options:
# -DPSIZE_64 for 64-bit machine environment
# -DTSDIS_TK_ENV for TSDIS environment
# -DOPERATION_ENV for operation environment
# -DTSU_ENV for TSU environment

# -DNASDA_ENV for using the ASCII database

CC=cc

CFLAGS= -w -Xa $(DEBUG_FLAG) -D$(MACHINE) -DX_WCHAR -DTSU_ENV

#Define the F77 compiler and flags
FC =f77

FFLAGS = $(DEBUG_FLAG) -D$(MACHINE) -DLANGUAGE_FORTRAN -DTSU_ENV

CFLAGS FFLAGS -DNASDA _ENV

CFLAGS= -w -Xa $(DEBUG_FLAG) -D$(MACHINE) -DX_WCHAR -DTSU_ENV ¥
DNASDA_ENV

FFLAGS = $(DEBUG_FLAG) -D$(MACHINE) -DLANGUAGE_FORTRAN -DTSU_ENV ¥
-DNASDA FENV

% make
/home/trmm11/work/toolkit 5.7/lib/ libtsdistk.a
C TSDIS
include (toolkit 5.7/include/) toolkit 5.7/data/, toolkit 5.7/db/
toolkit 5.7
% cp -r toolkit_5.7 < >
2.3.
HDF .cshrc HDF

/home/trmm11/work/HDF4.1r4

set path=(/home/trmm211/work/HDF4.1r4/bin/ $path)
setenv LD_LIBRARY_PATH /home/trmm11/work/HDF4.1r4/lib:$LD_LIBRARY_PATH
setenv HDFINC /home/trmm11/work/HDF4.1r4/include

TSDIS .cshrc
/home/trmm11/work/toolkit 5.7

12



setenv LD_LIBRARY_PATH /home/trmm11/work/toolkit_5.7/lib:$LD_LIBRARY_PATH
setenv TSDISTK /home/trmm211/work/toolkit 5.7

HDF TSDIS

13




3.1.
TRMM TSDIS

include

inlude

HDF

HDF

HDF

TRMM 1 2
SDS?
Appendix

NASA/TSDIS

Fr7

include

SDS

Parameter Dictionary

Appendix

TRMM 3

HDF
HDF

Appendix
Appendix
Appendix

14
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12
l TKreadScan
: 3
HDF —
TKopen TKreadGrid
: !
HDF
TKreadMetadatalnt/Float/Char TKclose
3.2.C
C 1 TRMM
2A25 (PR) 3A25(PR) 1B01(VIRS) 1B11(TMI)
EORC TRMM Web http://www.eorc.nasda.go.jp/ TRMM/ FAQ
3.2.1.
4 C PR  2A25
( 3A25 )
#include <I0.h>
#include <IO_PR.h> ™I <IO_TMl.h>
#include <IO_INTR_PR.h> ™I <IO_INTR_TML.h>

IO0_HANDLE granuleHandle2A25;
L2A 25 SWATHDATAL2A25 data;




HDF

status = TKopen (HDF , TK_L2A 25, TK_READ_ONLY, &granuleHandle2A25);
HDF

IO_HANDLE

status = TKreadMetadatalnt ( &granuleHandle2A25, TK_ORBIT_SIZE, &numberOfScan );

status = TKreadMetadataFloat ( &granuleHandle2A25, TK_FILE_SIZE, &fileSize);

status = TKreadMetadataChar ( &granuleHandle2A25, TK_GRANULE_ID, &granulelD );
Int, Float, Char

( 12 )

for (iScan=1; iScan <= numberOfScan; iScan++ ) {
status = TKreadScan ( &granuleHandle2A25, &L2A25 data );

printf("Lat,Lon : %f, %f ¥n", L2A25 data.geolocation[5][0],
L2A25 data.geolocation[5][1]);
}
5

( 3 )

status = TKreadGrid ( &granuleHandle3A25, &L3A25 data );

printf( "RainMean : %f¥n", L3A25_ data.gridl.rainMean[0][71][15],);

Gridl 5 x5
1 72
16

status = TKclose( &granuleHandle2A25);

16




3.2.2.

NASDA/EORC SUN SGI DEC HP Linux C
1
c 2a25rd.c ¢ 2a25rd

® SUN Solaris 2.6
-DSUN -Xc -Insl|

cc -DSUN -Xc -0 c_2a25rd c_2a25rd.c ¥
-fhome/trmm11/work/HDF4.1r4/include -Ihome/trmmll/work/toolkit 5.7/include ¥
-L/home/trmm1l/work/HDF4.1r4/lib -L/home/trmmll/work/toolkit 5.7/lib ¥

-ltsdistk -Imfhdf -Idf -ljpeg -1z -Im -Ins|

® SGlI IRIX65
-n32 32 new -DSGI -xansi
-mips4 -n32 -fullwam -64 64 -n32 -64

cc -DSGI -xansi -mips4 -n32 -fullwarn -o ¢c_2a25rd c¢_2a25rd.c ¥
-I/lhome/trmm11/work/HDF4.1r4/include -I/home/trmm1l/work/toolkit 5.7/include ¥
-L/home/trmm1l/work/HDF4.1r4/lib -L/home/trmmll/work/toolkit 5.7/lib ¥

-ltsdistk -Imfhdf -Idf -ljpeg -1z -Im

® DEC Alpha
-DDEC ALPHA -ieee with no inexact -stdl

cc -DDEC_ALPHA -ieee_with_no_inexact -std1 -0 ¢_2a25rd ¢_2a25rd.c ¥
-Ifhome/trmm11/work/HDF4.1r4/include -I/home/trmmll/work/toolkit 5.7/include ¥
-L/home/trmm11/work/HDF4.1r4/lib -L/home/trmml1l/work/toolkit 5.7/lib ¥
-ltsdistk -Imfhdf -Idf -ljpeg -1z -Im

® HP HP-UX10.20
-DHP9000 -Aa

cc -DHP9000 -Aa -0 ¢c_2a25rd ¢_2a25rd.c ¥
-fhome/trmm11/work/HDF4.1r4/include -Ihome/trmml1l/work/toolkit 5.7/include ¥
-L/home/trmm11/work/HDF4.1r4/lib -L/home/trmm211/work/toolkit_5.7/lib ¥
-Itsdistk -Imfhdf -Idf -ljpeg -lz -Im

® Linux
1) gee !
2) -fPIC -DLinux

gcc -fPIC -DLinux -0 c_2a25rd c_2a25rd.c ¥
-I/lhome/trmm1l/work/HDF4.1r4/include -I/home/trmml1l/work/toolkit 5.7/include ¥
-L/home/trmm1l/work/HDF4.1r4/lib -L/home/trmmll/work/toolkit 5.7/lib ¥
-ltsdistk -Imfhdf -Idf -ljpeg -1z -Im

L ANSIC GNU ANSI gce
17



3.3.F77

F77 2 TRMM
2A25(PR) 3A25(PR) 1BO01(VIRS) 1B11(TMI)
EORC TRMM  Web URL  http://www.eorc.nasda.go.jp/ TRMM/
FAQ
*f *F
3.3.1.

#include "TKfortranDeclare.h"
#include "10.h"
#include "IO_PR.h" T™I <IO_TMl.h>

record WRAPPER_HANDLE/ granuleHandle2A25
F77 IO_HANDLE WRAPPER_HANDLE
record L2A 25 SWATHDATA/ L2A25 data

/WRAPPER_HANDLE/

status = TKopen ( HDF , TK_L2A 25, TK_READ_ONLY, granuleHandle2A25 )
HDF

status = TKreadMetadatalnt ( granuleHandle2A25, TK_ORBIT_SIZE, numberOfScan )
status = TKreadMetadataFloat ( granuleHandle2A25, TK_FILE_SIZE, fileSize)
status = TKreadMetadataChar ( granuleHandle2A25, TK_GRANULE_ID, granulelD )
Int, Float, Char

18



( 12 )

do 100 iScan = 1, numberOfScan
status = TKreadScan( granuleHandle2A25, L2A25 data )

write (6,*) ‘Lat, Lon : ', L2A25 data.geolocation(1,5), L2A25_data.geolocation(2,5)
100 continue

5
( 3 )
status = TKreadGrid ( granuleHandle3A25, L3A25 data )
write (6,*) 'RainMean : ’, L3A25_data.grid1.rainMean(16,72,1)
Gridl 5 x5
1 72
16
status = TKclose (granuleHandle2A25)
3.3.2.

NASDA/EORC SUN SGI DEC HP

2

f 2a25rd.F f 2a25rd

® SUN Solaris26
-DLANGUAGE_FORTRAN -Insl

fr7 -DLANGUAGE_FORTRAN -o f_2a25rd f_2a25rd.F ¥
-I/lhome/trmm11/work/HDF4.1r4/include -I/home/trmma11/work/toolkit 5.7/include ¥
-L/home/trmml1l/work/HDF4.1r4/lib -L/home/trmmll/work/toolkit 5.7/lib ¥
-ltsdistk -Imfhdf -Idf -ljpeg -1z -Insl

19



® SGI (IRIX 6.4)
-n32 ~DLANGUAGE FORTRAN

-mips4 -n32 -64 64 -n32 -64

f77 -DLANGUAGE_FORTRAN —mips4 —n32 -0 f_2a25rd f_2a25rd.F ¥
-fhome/trmml1l/work/HDF4.1r4/include -Ihome/trmmll/work/toolkit 5.7/include ¥
-L/home/trmm11l/work/HDF4.1r4/lib -L/home/trmmll/work/toolkit 5.7/lib ¥

-ltsdistk -Imfhdf -Idf -ljpeg -1z

® DEC Alpha
-DLANGUAGE _FORTRAN -ieee with no_inexact -std1 -DPSIZE 64

fr7 -DLANGUAGE_FORTRAN -DDEC_ALPHA -ieee_with_no_inexact -std1 -DPSIZE_64 ¥
-0 f_2a25rd f_2a25rd.F ¥
-I/lhome/trmm11/work/HDF4.1r4/include -l/home/trmml1/work/toolkit 5.7/include ¥
-L/home/trmml1l/work/HDF4.1r4/lib -L/home/trmmll/work/toolkit 5.7/lib ¥
-ltsdistk -Imfhdf -Idf -ljpeg -Iz

® HP (HP-UX 10.20)

1) fort77

2) -DLANGUAGE_FORTRAN -Im

3) program main

4) 2 getarg igetarg

fort77 -DLANGUAGE_FORTRAN -o f_2a25rd f_2a25rd.F ¥
-fhome/trmm11/work/HDF4.1r4/include -I/home/trmml1l/work/toolkit 5.7/include ¥
-L/home/trmm1l/work/HDF4.1r4/lib -L/home/trmmll/work/toolkit 5.7/lib ¥
-ltsdistk -Imfhdf -Idf -ljpeg -1z -Im

2C



4. TRMM

4.1. HDF
TRMM 3
HDF
HDF HDF
HDF
http://hdf.ncsa.uiuc.edu/tools.html
HDF
HDF
NASA GSFC DAAC Web HDF
NASA
URL
http://daac.gsfc.nasa.gov/REFERENCE_DOCS/HDF/gdaac_hdf.html
EORC
4.2. UNIX
TSDIS Orbit Viewer (Standard Orbit Viewer)
NASA/GSFC/TSDIS
URL http.//www-tsdis.gsfc.nasa.gov/tsdis/TSDISorbitViewer/release.html
IDL Interactive Data Language TRMM
IDL Ver.5 IDL
http://www.adamnet.co.jp/scs/products/idl/index.html UNIX IDL
60 Mac Win  IDL 30

EORC PC

21




TSDIS Orbit Viewer runtime version
NASDA/EORC

URL http.//www.eorc.nasda.go.jp/ TRMM/ doc/orbitviewer/index j.htm

NASA/GSFC/TSDIS UNIX
Viewer IDL
UNIX Windows Linux 3
Windows 9872000
CD-ROM

JHV ( Java HDF Viewer )

NCSA
URL http://hdf.ncsa.uiuc.edu/java-hdf-html/
HDF
TRMM HDF
WS
PR Java
HDF

4.3.

TSDIS Orbit Viewer runtime version
NASDA/EORC NASA/GSFC/TSDIS

URL http://www.eorc.nasda.go.jp/ TRMM/ doc/orbitviewer/index _j.htm
http:.//www-tsdis.gsfc.nasa.gov/tsdis/ TSDISorbitViewer/release.html
NASA/GSFC/TSDIS  UNIX TISDIS Orbit Viewer

IDL

UNIX Windows Linux

Windows (98/2000)
CD-ROM

Noesys Transform
Macintosh Windows 95/98/NT UNIX

TISDIS Orbit

TSDIS

TRMM

3

TRMM
HDF

Noesys T3D

URL http://www.fortner.com/noesys/index.html
http.//www.informatig.com/fortnersoft/fortner2.html
HDF
TRMM HDF
Excel
float, integer
EORC
UNIX EORC
PC 6 UNIX

22
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4.4.
HDF EORC

AVS/Express Viz (Application Visualization System)
UNIX Windows NT

URL http://www.avs.com
http://www.kgt.co.jp/kgt/avs/conso/index.html
EORC TRMM HDF
EORC HDF
AVS/Express Viz
TRMM ( PR) CPU
PC EORC
UNIX 100 PC 50

GrADS (Grid Analysis and Display System)

Windows 95/NT DOS Linux Mac
COLA/IGES  Center for Ocean-Land-Atmosphere Studies/Institute for Global
Environment and Society

URL: http://grads.iges.org/grads/head.html
Ver.16f3 HDF
1,2 HDF
(SDS) ( ) GrADS HDF
URL http://www.cdc.noaa.gov/~ hoop/xdfopen.shtml
EORC HDF
Verl7p 13 12 HDF
GrADS

23



1. C

C 2A25(PR) 1BO01(VIRS) 1B11(TMI), 3A25(PR) ID
5 EORC TRMM Web
http://www.eorc.nasda.go.jp/ TRMM FAQ
2A25
HDF 2A25
geolocation

/**********************************************************

2A25 dat a check 98/ 06/ 24 Y. Suzuki @ est ec
Li sting 2A25 netadata, |atitude, |ongitude, scan tineg,
and rai n(nmm hr)

USAGE: c_2a25rd ‘' 2A25 Fil e_Nane’
This programis FREEWARE, so there is NO SUPPORT.

************************************************************/

#i ncl ude <mat h. h>
#i ncl ude <stdio. h>
#include <stdlib. h>
#i ncl ude <string. h>

TSDIS

#include <O h> «—— |

#i ncl ude <l O PR h>

#i ncl ude <I O I NTR PR h>]" PR TSDIS
#defi ne N100 100

int main(int argc, char *argv[])

{
[* -eeeee-- Variables related to toolkit ---------- */
10.h, I0_PR.h
| O HANDLE gr anul eHandl e2A25; 2A25

L2A 25 SWATHDATA read_L2A25 data ;

24




DATE_STR begi nDat €; /

TI ME_STR begi nTi ne;
DATE_STR endDat e;
TI ME_STR endTi ne;

char granul el D L2A25[ N100] ; /* I D( ) */
i nt dat aType_L2A25;
char filenode read, filenode wite;
i nt i, j, status, iScan, nunmberO Scan, orbitSize ;
char granul el D) N100], al gorithm Df N100O] ,
al gori t hnVer si on[ N10O], t ool kit Versi on[ N10O] ;

Usage

if( argec '=2) {
fprintf( stderr, “ USACE :
“c_2a25rd ‘2A25 I nput _File_Nane’ ¥n” );
return ;

}
strcpy(granul el D_L2A25, argv[1]);

HDF

/* open file */
status = TKopen(granul el D_L2A25, TK L2A 25,
TK_READ ONLY, &granul eHandl e2A25);
if(status !'= TK SUCCESS) {
printf( “*** ERROR -> STOP ----- “
“Failed to open 2A25 input file: %¥n”, granul el D L2A25);

}
[* --e-- check netadata ------ */

status = TKreadMet adat al nt (&gr anul eHand| e2A25,
TK_BEGQ N_DATE, &begi nDate);

status = TKreadMet adat al nt ( &gr anul eHandl e2A25,
TK_BEGQ N _TI ME, &begi nTi ne) ;

status = TKreadMet adat al nt ( &gr anul eHandl e2A25,
TK_END DATE, &endDate);

status = TKreadMet adat al nt ( &gr anul eHandl e2A25,

TK_END_TI ME, &endTi ne); _

int TKreadMetadatalnt(I0O_HANDLE *granuleHandle, int parameter, void *value);

parameter:
value:




printf( “ beginDate = %/ %/ % ¥n",
begi nDat e. t kyear, begi nDat e. t knont h,
begi nDat e. t kday );
printf( “ beginTine = %l: %: %d¥n”,
begi nTi ne. t khour, begi nTi ne. t km nut e,
begi nTi ne. t ksecond ) ;
printf( “ endDate = %l/ %/ Yd¥n”
endDat e. t kyear, endDat e. t knont h,
endDat e. t kday );
printf( “ endTinme = %l %d: Yd¥n”,
endTi ne. t khour, endTi ne. tkm nut e,
endTi me. t ksecond ) ;
status = TKreadMet adat al nt ( &gr anul eHandl e2A25,
TK _ORBI T_SI ZE, &orbitSi ze);
printf( “ orbitSize = %d¥n”, orbitSize );

beginDate.tkyear
beginDate.tkmonth
beginDate.tkday
beginTime.tkhour
beginTime.tkminute
beginTime.tksecond

nunber O Scan = orbitSi ze ; 1

status = TKreadMet adat aChar ( &gr anul eHandl e2A25,
TK_GRANULE I D, granul el D);

status = TKreadMet adat aChar ( &gr anul eHandl e2A25,
TK_ALGORI THM I D, al gorithm D);

status = TKreadMet adat aChar ( &gr anul eHandl e2A25,
TK_ALGORI THM VERSI QN, al gori t hnVer si on);

status = TKreadMet adat aChar ( &gr anul eHandl e2A25,

TK_TOOLKI T_VERSI ON, t ool ki t Ver si on); TSDIS
printf( “ granulelD = U8¥n", granulelD);
printf( “ algorithm D = 9s¥n”, algorithmD);
printf( “ algorithnVersion = %¥n”, algorithnm/ersion);
printf( “ toolkitVersion = %¥n", toolKkitVersion);

/* read scan by scan */

for (i Scan=1; i Scan<=nunber O Scan; i Scan++) {

/* scan | oop */

1

status = TKreadScan(&gr anul eHandl e2A25, & ead_L2A25 dat a)

swathData: 1
rain

int TKreadScan(I0_HANDLE *granuleHandle, void *swathData);

geolocation
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if( status ! = TK SUCCESS ) printf( “ Read Scan Error¥n”);

TSDIS TK_SUCCESS
TK_FAIL

el se {
for(i=0; i<49; i++) { /* angl e | oop */

printf( “Scan : %d/%d ScanTine : 9%9.3f Angle : %d”
“Lat, Lon : 98. 3f, 99. 3f ¥n",
i Scan, nunber O Scan,

read L2A25 dat a.scanTine, i+1
/* UTC seconds of the day */

read_L2A25 dat a. geol ocation[i][0],
[* Latitude (deg) */
read_L2A25 data. geol ocation[i][1] );
/* Longitude (deg) */

for(j=0;j<80;j++) printf( “ u8.1f", /* vertical |oop */
read L2A25 data.rain[i][j] );

/* Rain (mhr) */
printf( “¥n” );

}
}

/* close TRMdata */
status = TKcl ose( &gr anul eHandl e2A25) ;

return status;
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1B01

/**********************************************************

1B01 VI RS dat a check 98/ 06/ 24 Y. Suzuki @est ec
Li sting 1B01 netadata information, |atitude, |ongitude,
scan time and radi ance print.
USACGE:

c_1b01rd * 1BO1_Fi | e_Nane’
This programis FREEWARE, so there is NO SUPPCRT.

************************************************************/

#i ncl ude <mat h. h>

#i ncl ude <stdio. h>

#i ncl ude <stdlib. h>

#i ncl ude <string.h>

#i nclude <l Q h>

#i nclude <IOVIRS h>

#i ncl ude <l O | NTR_VIRS. h>

#define NLOO 100
int main(int argc, char *argv[])

{

R Variables related to tool kit ---------- */
L1B 01 SWATHDATA read L1B01 data ;
| O_ HANDLE granul eHandl e1B01;

DATE_STR begi nDat €;
TI ME_STR begi nTi me;
DATE_STR endDat e;
TI ME_STR endTi ne;

char granul el D_L1B01[ N100] ;
i nt dat aType_L1B01;

char filenode_read, filenode wite;
int i, j, status, iScan, nunberf Scan, orbitSize ;
char granul el O N100], al gorithm D N1OO],

al gori t hmver si on[ NLOO], t ool kit Versi on[ N10O] ;

if( argc '=2) {
fprintf( stderr, “ USAGE : “
“c_1b01rd ‘1B01_I nput _Fil e_Name’' ¥n” );
return ;

strcpy(granul el D L1B01, argv[1]);
/* open file */
status = TKopen(granul el D L1B01, TK L1B 01,
TK_READ QO\LY, &granul eHandl e1B01);
i f(status !'= TK _SUCCESS) {
printf( “*** ERRCR -> STCP ----- “
“Failed to open 1BO1 input file: 9¥n”, granulel D L1B01);

------- check metadata ------ */

status = TKreadMet adat al nt ( &gr anul eHandl e1B01,
TK_BEGQ N_DATE, &begi nDate);

status = TKreadMet adat al nt ( &gr anul eHandl e1B01,
TK_BEA N_TI ME, &begi nTi ne);

status = TKreadMet adat al nt ( &gr anul eHandl e1B01,
TK_END _DATE, &endDate);

status = TKreadMet adat al nt ( &gr anul eHandl e1B01,
TK_END Tl ME, &endTi ne);

printf( “ beginDate = %/ %/ % ¥n",
begi nDat e. t kyear, begi nDat e. t knont h,
begi nDat e. t kday );

printf( “ beginTine = %l: %d: %a¥n”,
begi nTi ne. t khour, begi nTi ne. t km nut e,
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begi nTi ne. t ksecond ) ;
printf( “ endDate = %/ %/ %d¥n” ,

endDat e. t kyear, endDate.tknmonth, endDate.tkday );
printf( “ endTi ne = %d: %l: %d¥n”,

endTi ne. t khour, endTi ne. t km nut e,

endTi me. t ksecond ) ;
status = TKreadMet adat al nt ( &gr anul eHandl e1B01,

TK ORBI T_SI ZE, &orbitSize);
printf( “ nunmberCf Scan = %l¥n”,
nunber & Scan = orbitSi ze ;

orbitSize);

status = TKr eadMet adat aChar ( &gr anul eHandl e1B01,
TK_ GRANULE_I D, granulelD);
stat us = TKr eadMet adat aChar ( &gr anul eHandl e1B01,
TK AAGCRITHM I D, algorithm D);
status = TKr eadMet adat aChar ( &gr anul eHandl e1B01,
TK_ALGORI THM VERSI QN, al gori t hnVer si on) ;
status = TKr eadMet adat aChar ( &gr anul eHandl e1B01,
TK_TOOLKI T_VERSI QN, tool kit Version);
printf( “ granul el D = 9%¥n", granulelD);
printf( “ algorithmD = 9%¥n", algorithnmD);
printf( “ algorithnVersion = %¥n", algorithnVersion );
printf( “ toolkitVersion = 9%¥n", toolkitVersion );

/* read scan by scan */

for (i Scan=1; i Scan<=nunber Cf Scan; i Scan++) {
/* scan | oop */

status = TKreadScan(&gr anul eHandl e1B01, & ead_L1B01_dat a) ;

if( status != TK SUCCESS ) printf( “ Read Scan Error ¥n");
el se {

for(i=0; i<261; i++) { /* angle | oop */

/*

printf( “Scan : %d/%d ScanTine : 9®.3f IFO/: %d
“Lat, Lon : 9®.3f,9.3f ¥n", iScan, nunber f Scan,
read_L1B01_dat a. scanTi e, i +1,
/* UTC seconds of the day */
read_L1B01_dat a. geol ocation[i][0],
/* Latitude (deg) */
read_L1B01_data. geol ocation[i][1] );
/* Longitude (deg) */
for(j=0;j<5;j++) printf( “ 9®.5f",
read_L1B01 data.channel s[i][j] );
/* radiance (mMNcmt-2 unf-1 srn-1) */

/* channnel |oop */

printf( “¥n” );

cl ose TRWdata */
stat us = TKcl ose( &gr anul eHandl e1B01) ;

return status;
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1B11

/**********************************************************

1B11 TM dat a check 98/ 06/ 24 Y. Suzuki @estec
Li sting 1B11 netadata information, latitude, |ongitude,
scan tinme and Brightness tenperature (K)
USAGE:

c_1blird *1Bl11_Fil e_Name’
CALLI NG SEQUENCE:

(1) int argc

(1) char *argv[]

: (nunber of command |ine strings)
see the note bel ow
NOTE:
argv[ 0] : program nane
argv[1]: input file nane from1Bl1l

This programis FREEWARE, so there is NO SUPPCRT.

********************'k***************************************/

#i ncl ude <mat h. h>

#i ncl ude <stdio. h>

#i ncl ude <stdlib. h>

#i ncl ude <string. h>

#i ncl ude <1 Q h>

#include <O TM . h>
#include <IOINTR TM . h>

#define NLOO 100
int main(int argc, char *argv[])

{

R Variables related to tool kit ---------- */
L1B 11 SWATHDATA read_L1Bl11 data ;
| O HANDLE granul eHandl e1B11;

DATE_STR begi nDat €;
TI ME_STR begi nTi ne;

DATE_STR endDat e;
TI ME_STR endTi ne;

--------- G her Variables ---------- */
char granulel D L1B11[ N100];
i nt dat aType_L1B11;
char filenode_read, filenode wite;
i nt i, j, il, status, iScan, nunber O Scan, orbitSize ;
char  granul el OO N10O], al gorithm D[ NLOO],
al gori t hmver si on[ NLOO], tool kit Versi on[ N10O] ;

--------- Argunent check ----------*/
if( argc '=2) {
fprintf( stderr, “ USAGE : *
“c_1bllrd ‘ 1B11_Input _Fil e_Nane’ ¥n" );
return ;

--------- Input file ----------*/
strcpy(granul el D L1B11, argv[1]);
dataType_L1B11 = TK L1B 11;
filenmode_read = TK READ O\LY;
filemode wite = TK NEWFI LE;

status = TKopen(granul el D_L1B11,
dat aType_L1B11, fil enode_read,
&gr anul eHandl e1B11) ;
i f(status !'= TK SUCCESS) {
printf( “*** ERROR -> STCP ----- !
“Failed to open 1B11 input file: %¥n”,granul el D L1B11);

------- check nmetadata ------ */
status = TKreadMet adat al nt ( &gr anul eHandl el1B11,
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TK_BEA N_DATE, &begi nDate);

stat us = TKr eadMet adat al nt ( &gr anul eHand| e1B11,
TK_BEG N_TI ME, &begi nTi ne) ;

status = TKreadMet adat al nt ( &gr anul eHandl el1B11,
TK_END_DATE, &endDate);

status = TKreadMet adat al nt ( &gr anul eHand| e1B11,
TK_END_TI ME, &endTi ne);

printf( “ beginDate
begi nDat e. t kyear,

= %/ %/ % ¥n",

begi nDat e. t kront h, begi nDat e. t kday
printf( “ beginTine = %l: %l: %d¥n”,

begi nTi ne. t khour, begi nTi me. t km nut e,

begi nTi ne. t ksecond ) ;
printf( “ endDate = %/ %/ %d¥n” ,

endDat e. t kyear, endDate. tknmonth, endDate.tkday );
printf( “ endTi me = %l: %: %d¥n”,

endTi ne. t khour, endTi ne. tkm nute, endTi ne.tksecond );
status = TKreadMet adat al nt ( &gr anul eHand| e1B11,

TK_ORBI T_SI ZE, &orbitSize);
printf( “ nunberf Scan = %l¥n”,

nunber & Scan = orbitSi ze ;

orbitSize );

status = TKr eadMet adat aChar ( &gr anul eHandl e1B11,
TK_GRANULE_I D, granulelD);

status = TKr eadMet adat aChar ( &gr anul eHandl elB11,
TK_ ALGORI THM I D, algorithm D);

status = TKr eadMet adat aChar ( &gr anul eHandl e1B11,
TK_ALGORI THM VERSI QN, al gori t hmVer si on) ;

status = TKreadMet adat aChar ( &gr anul eHandl e1B11,

TK_TOCLKI T_VERSI ON, t ool kit Ver si on) ;

printf( “ granulel D = U%8¥n", granulelD);

printf( “ algorithmD = 9%¥n", algorithmMD);
printf( “ algorithnVersion = %¥n”, algorithnVersion);
printf( “ toolkitVersion = 9%¥n", toolkitVersion);

)

/*

/*

/*
/*

read scan by scan */

for(i Scan=1; i Scan<=nunber & Scan; i Scan++) { /* scan |oop */

status = TKreadScan(&granul eHandl e1B11, & ead_L1Bl11_dat a) ;

if( status !'= TK_SUCCESS )
printf( “ Read Scan Error¥n”);
el se {
for(i=0; i<208; i++) { /* angl e | oop */
printf( “Scan : %d/%d ScanTine : %d/ %d/ %Rd %2d: %2d: 92d"
“ IFOV: %d
“Lat, Lon : 99.3f, 9. 3f ¥n",
i Scan, nunber O Scan,
read_L1Bl1_dat a. scanTi ne. year,
read_L1B11_dat a. scanTi me. nont h,
read_L1B11 dat a. scanTi ne. daydf Mont h,
read L1B11 data. scanTi ne. hour,
read_L1B11 dat a. scanTi me. m nut e,
read_L1Bl11_dat a. scanTi ne. second,
i +1,
read_L1B11_dat a. geol ocation[i][0],
Latitude (deg) */
read_L1B11_data. geol ocation[i][1] );
Longi tude (deg) */
| owResCh
Ch 1: 10G# Vertical
Ch 2 : 10GH Hori zont al
Ch 3 : 19G+# Vertical
Ch 4 : 19GH# Hori zont al
Ch 5: 21GH# Vertical
Ch 6 : 37GHz Vertical
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Ch 7 . 37G+ Horizontal

hi ghResCh
Ch 1: 85G+# Vertical
Ch 2 : 85@G+# Horizontal */

if(ir ==0) {
il =il2;
for(j=0;j<7;j++) printf( “ 98.3f",
read_L1B11 _data.lowResCh[il][j] );
for(j=0;j<2;j++ printf( “ 9. 3f",
read_L1Bl11_data. hi ghResCh[i][j] );
}
el se {
for(j=0;j<63;j++) printf( “ “ );
for(j=0;j<2;j++) printf( “ 98.3f",
read_L1B11_dat a. hi ghResCh[i][j] );
}
printf( “¥n” );
}

/* close TRWdata */
status = TKcl ose( &gr anul eHandl elB11);
return status;

3A25

/*****************************************************************

3A25 data check
Li sting 3A25 netadata and rainfall (mmhr) for gridl
Usage:
c_3a25rd ‘ 3A25 Fil e_Nane’
98/ 06/ 24 Original programby M Kachi @CRC
Modi fied to C-programby S. Shim zu@ORC
This programis FREEWARE, so there is NO SUPPCRT

********'k**********************'k*********************************/

#i ncl ude <stdio. h>
#i ncl ude <stdlib. h>
#i ncl ude <string. h>
#i ncl ude <mat h. h>

#i ncl ude <l QO h>
#i ncl ude <I O PR h>
#i ncl ude <l O I NTR_PR h>

#define DM 16
#define JDIM 72
#define KDIM 6
#defi ne N100 100

int main(int argc, char *argv[]){

[* ----- Variables related to tool kit ------- */
| O_ HANDLE gr anul eHandl e3A25;
L3A 25 GRID L3A25Gid;

DATE_STR begi nDat e;
TI ME_STR begi nTi ne;
DATE STR endDat €;
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TI ME_STR endTi ng; begi nDat e. t kyear, begi nDate.tknonth, begi nDate.tkday );

printf( “ beginTine = %l: %l: %d¥n”,
/* Variables */ begi nTi me. t khour, begi nTi ne. tkni nute, begi nTi me. t ksecond );
int status; printf( “ endDate = %/ %/ %d¥n”,
float mean[IDM[JDM[KD M; endDat e. t kyear, endDate.tknonth, endDate.tkday );
char granul el D_L3A25[ N1L0O] ; printf( “ endTime = %d: %l: Yd¥n”,
endTi ne. t khour, endTi ne.tkm nute, endTi ne.tksecond );
if(argc !'= 2){
fprintf(stderr,“USAGE * I Read grid data -------- */
“c_3a25rd ‘2A25 I nput_Fil e_Nane' ¥n"); status = TKreadQ@ i d( &gr anul eHandl e3A25, &L3A25Q i d);
return; if( status !'= TK SUCCESS ) printf(“ TK read error!¥n”);
} I Wite hourly rainfall ------ */
printf(“Lat=16 Lon=72 | ev=1
strcpy(granul el D L3A25, argv[1]); rai n=%¥n", L3A25@i d. gri dl. rai nMeanl[ O] [ 71] [ 15] ) ;
[* --ee-- Qpen input file ----- */ I dose ------- */
status = TKcl ose( &gr anul eHandl e3A25) ;
status = TKopen(granul el D L3A25, TK L3A 25, return status;
TK_READ O\LY, &granul eHandl e3A25);
i f(status != TK SUCCESS){ }

printf(“*** ERROR -> stop ----- “
“Failed to open 3A25 input file:%¥n”, granul el D L3A25);
return;

[* ---e-- Check netadeta ----- */

status = TKr eadMet adat al nt ( &gr anul eHand| e3A25,
TK_BEG N_DATE, &begi nDate);

status = TKreadMet adat al nt ( &gr anul eHandl e3A25,
TK_BEG N_TI ME, &begi nTi ne);

status = TKreadMet adat al nt ( &gr anul eHandl e3A25,
TK_END_DATE, &endDate);

status = TKr eadMet adat al nt ( &gr anul eHand| e3A25,
TK_END_TI ME, &endTi ne);

printf( “ begi nDate = %/ %/ % ¥n",
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2. Fr7

2A25(PR) 1BO1(VIRS) 1B11(TMI), 3A25(PR) ID
5 EORC TRMM  Web
http.//www.eorc.nasda.go,jp/ TRMM FAQ
2A25
HDF 2A25
geolocation

C**************************************************************************

2A25 check 98/ 06/ 24 Y. Suzuki @ est ec

Listing 2A25 netadata information, |atitude, |ongitude,
scan tinme and rai n(m hr).

c
c
c
c
c
C USACE

C f 2a25rd *2A25 Fil e Nane’
c

c

This programis FREEWARE, so there is NO SUPPCRT.

C**************************************************************************

#i ncl ude “TKf ortranDecl are. h” /

#i nclude “I1Qh” <« TSDIS

#include “10 PR h” 1\

PR TSDIS

C Variabl es related to tool kit

10.h, 10_PR.h

record / WRAPPER HANDLE/ gr anul eHandl e2A25 | 2A25

record / L2A 25 SWATHDATA/ read L2A25 data
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record / DATE_STR/' begi nDat e

record / TI ME_ STR' begi nTi e /
record / DATE STR' endDat e

record / TI ME_STR endTi me

QG her vari abl es

i nt eger status

character*100 argv(1)

character*50 granul el D, al gorithm D,
$ al gorithnmVersion, toolkitVersion

Define i nput and output file names
marg = iargc() Usage

if( marg .ne. 1) then
wite(6,*) * USACE : f_2a25rd 2A25 Fil eNane *
stop

end if

call getarg( 1, argv(l) )

Qpen input file

wite(6,*) argv(1l) HDF
status = TKopen( argv(1l), TK L2A 25, TK READ QWL Y,
$ granul eHandl e2A25)
if(status .ne. TK SUCCESS) then
wite(6,*) * TRWMTfile open error’
stop
end if

check net adat a

stat us = TKr eadMet adat al nt (gr anul eHandl e2A25, —
$ TK BEQ N _DATE, begi nDat e)

status = TKreadMet adat al nt ( gr anul eHandl e2A25,
$ TK BEA N_TIME beginTi ne)
status = TKreadMet adat al nt ( gr anul eHandl e2A25,

$ TK_END DATE, endDate)
status = TKreadMet adat al nt ( gr anul eHandl e2A25,
$ TK END TIME, endTine) —

TKreadMetadatalnt(granuleHandle, parameter, value)

granuleHandle: WRAPPER_HANDLE
parameter:
value:

35




wite(6,'(1x,a,i4,a,i12,a,i2)")

$ ° beginDate = ‘, begi nDate. tkyear,’ /",

$ beginDate.tkmonth,‘/’, begi nDate.t kday beginDate.tkyear
wite(6,'(1x,a,i4,ai2ai2)") beginDate.tkmonth
$ * beginTine = *, begi nTi ne. t khour, " : *, beginDate.tkday

$ beginTine.tkmnute, :’, beginTi me.tksecond beginTime.tkhour
wite(6,‘(1x,a,i4,ai2 a,i2)") beginTime.tkminute

$ ‘' endDate =, endDate.tkyear, '/, beginTime.tksecond

$ endDate.tknonth, ‘/’, endDate.tkday
wite(6,'(1x,a,i4,a,12,a,i2)’)

$ ° endTine ="', endTinme.tkhour, ’:‘, endTine.tkm nute,

$ ‘:', endTine.tksecond

status = TKreadMet adat al nt ( gr anul eHandl e2A25,

$ TKORBIT SIZE iorbitSize) 1

wite(6,*) ' orbitS ze =', iorbitS ze

nunber & Scan = iorbitSi ze

ID

status = TKreadMet adat aChar ( gr anul eHandl e2A25,
$ TK GRANULE ID, granul el D

status = TKreadMet adat aChar ( gr anul eHandl e2A25, A5
$ TKALGCR THMID algorithm D)

status = TKreadMet adat aChar ( gr anul eHandl e2A25,
$ TK ALGQR THM VERSI ON, al gori t hnVer si on)

status = TKreadMet adat aChar ( gr anul eHandl e2A25, TSDIS
$ TK TOOLKI T_VERSI ON, tool kit Version)

wite(6,*) * granulel D ="', granul el D

wite(6,*) * algorithmD ="', algorithm D

wite(6,*) * algorithm/rsion ="', algorithnmersion
wite(6,*) * toolkitVersion ="*, toolkitVersion

c read scan by scan
c scan | oop
do 10 i Scan=1, nunber & Scan 1
status = TKreadScan( granul eHandl e2A25, read_L2A25 dat a)
TKreadScan(granuleHandle, swathData)
granuleHandle: WRAPPER_HANDLE
swathData: 1 geolocation rain
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if( status .ne. TK SUCCESS ) then
wite(6,*) * Read Scan Error’

el se TSDIS TK_SUCCESS
TK_FAIL
c angl e | oop
do 20 i=1,49

wite(6,600) iScan, nunber O Scan,

c UTC seconds of the day
$ read_L2A25 data.scanTine, i,
c Lati tude (deg)
$ read_L2A25 dat a. geol ocation(1,i),
C Longi t ude (deg)
$ read_L2A25 dat a. geol ocation(2,i)
600 format( * scan =, i5, ‘/’, i5 * ScanTine : ‘, f9.3,
$ ‘ Agle: *, i2, * lLat,Lon: ‘, f9.3, *,’, f9.3)
c Rain (mihr) fromtop to bottom
wite(6, 610) (read L2A25 data.rain(j,i),]=1,80)
610 format ( 80(1x,f8.1) )

20 conti nue
end if
10 conti nue

C cl ose TRW dat a
stat us = TKcl ose( granul eHandl e2A25)

st op
end
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1B01

C***************************'k***********'k**************************

1B01 VIRS dat a check
FORTRAN ver si on 98/ 06/ 24 Y. Suzuki @est ec
Li sting 1B01 netadata information, |atitude,

scan tine and radi ance.

| ongi t ude,

USAGE:
f 1b0ird ‘ 1BO1_Fil e Nane’

O O O O o o o o o o

This programis FREEWARE, so there is NO SUPPCRT.
C******************************************************************
#i ncl ude “TKfortranDecl are. h”

#include “1Q h”

#include “IOVI RS h”

c Variables related to tool kit
record / WRAPPER HANDLE/  gr anul eHandl e1B01
record /L1B 01 _SWATHDATA/ read_L1B01_data

record / DATE_STR/  begi nDat e
record /TIME_STR'  begi nTi e
record / DATE_STR/ endDate
record / TIME_STR/  endTi ne

c C her vari abl es
i nteger status
charact er*100 argv(1)
character*50 granul el D, al gorithm D,
$ algorithnVersion, toolkitVersion

C

Cc

Define input and output file names

marg = iargc()

if( mrg .ne. 1) then
wite(6,*) * USACGE : f_1b0Olrd 1BO1_Fil eNane °
stop

end if

call getarg( 1, argv(1l) )
Qpen input file
wite(6,*) argv(1l)
status = TKopen( argv(1l), TK L1B 01, TK READ Q\LY,
$  granul eHandl e1B01)
i f(status .ne. TK_SUCCESS) then
wite(6,*) *
st op
end if

TRW file open error’

check met adat a

stat us = TKr eadMet adat al nt (gr anul eHandl e1B01,
$  TK_BEG N _DATE, begi nDat €)

status = TKr eadMet adat al nt (gr anul eHandl e1B01,
$ TK BEGA N_TIME, beginTi ne)

status = TKreadMet adat al nt (gr anul eHandl e1B01,
$  TK_END DATE, endDate)

status = TKreadMet adat al nt ( gr anul eHandl e1B01,
$ TK END TIME, endTi ne)

wite(6,'(1x,a,i4,a,i2,a,i2)")

$ ‘* begi nDat e ="', begi nDate. tkyear,’ /",
$ begi nDat e. tknmont h, * /', begi nDat e. t kday
wite(6,'(1x,a,i4,a,i2,a,i2)")

s
$ begi nTi ne. tkm nute, “: ",

begi nTi me = ', begi nTi me. t khour, ' : *,

begi nTi ne. t ksecond
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C

c

wite(6,‘(1x,a,i4,a,i2,a,i2)")

$ * endDate = ‘,endDate.tkyear,’'/*,
$ endDate.tknonth,‘/’, endDate.tkday
wite(6,‘(1x,a,i4,a,i2,a,i2)")

$ * endTine = *, endTine. tkhour, :*,
$ endTine.tkmnute,‘:’, endTi ne.tksecond

status = TKreadMet adat al nt ( gr anul eHandl e1B01,
$ TK CORBIT_SIZE, iorbitSize)
wite(6,*) ‘' orbitSize ="', iorbitSize
$ nunber O Scan = iorbitSize

status = TKreadMet adat aChar ( gr anul eHandl e1B01,
$ TK GRANULE I D, granul el D)

status = TKreadMet adat aChar ( gr anul eHandl e1B01,
$ TK ALGR THMID, algorithm D

status = TKreadMet adat aChar (gr anul eHandl e1B01,
$ TK ALGORI THM VERSI ON, al gori t hnVer si on)
status = TKreadMet adat aChar ( gr anul eHandl e1B01,
$ TK TOOLKI T_VERSI ON, tool kit Version)

wite(6,*) * granulelD ="', granulelD
wite(6,*) * algorithm D ="', algorithm D
wite(6,*) * algorithnmVersion = *, algorithmersion
wite(6,*) * toolkitVersion ="', toolkitVersion

read scan by scan */

scan | oop
do 10 i Scan=1, nunber & Scan

status = TKreadScan(granul eHandl e1B01, read_L1B01_dat a)

if( status .ne. TK SUCCESS ) then
wite(6,*) * Read Scan Error’

el se
angl e | oop
do 20 i=1, 261

wite(6,600) iScan, nunber O Scan,
UTC seconds of the day

read L1B01 data.scanTine, i,

Latitude (deg)

Lo

600

ra

610

read_L1B01 data. geol ocation(1,i),

ngi t ude (deg)

read_L1BO01_dat a. geol ocation(2,i)
format( * scan = *,i5,'/",i5 ' ScanTine : ‘,f9.3,
‘ IFOV: *,i3," Lat,Lon: ‘,f9.3,7,°,f9.3)
diance (mMWcnmt-2 unf-1 srn-1)

wite(6,610) (read_L1B01_data.channels(j,i),]j=1,5)
format ( 5(1x,f9.5) )

20 conti nue

end i
10 cont

f
i nue

cl ose TRW dat a
status = TKcl ose(granul eHandl e1B01)

stop
end
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1B11

IR EE RS E RS S S S SRS RS SRR SRS RS EEEEEEEEEEEEEEEEEEEEEEEEEEEERESEEEREESEEET

TM / 1B11 dat a 98/ 06/ 24 Y. Suzuki @est ec

TM /1B11 data i nput

f_1b1ird ‘ 1B11_I nput _Fi | e_Nan®’

This programis FREEWARE, so there is NO SUPPCRT.

c
c

c

c

c USACE
c

c

c

EE R R RS SRR RS R EE S S SRR SRR R R R R SRR EE SRR R R R EEE R EEEEEEREEEEEEEEEEEEEEEESEES
#i ncl ude “TKfortranDecl are. h”

#include “1Q h”

#include “10.TM . h"

record /WRAPPER HANDLE/  granul eHandl eRead1B11
record /L1B_11_SWATHDATA read_L1B11_data

record / DATE STR/  begi nDat e
record /TI ME_STR/  begi nTi e
record / DATE_STR/  endDat e
record / TIME_STR/  endTi ne

i nteger status

character*100 argv(2)

character*50 granul el D, al gorithm D,
$ al gorithnVersion, toolkitVersion

c Define input file names
marg = i argc()
if( mrg .ne. 1) then
wite(6,*)
$ ° USAGE:
stop

f_1bl11lrd 1B11_I nput Fi | eNane’

end if
call getarg( 1, argv(1l) )
c en input file
wite(6,*) ‘Input File: ‘,argv(l)
status = TKopen( argv(1l), TK L1B 11, TK READ Q\WLY,
$ granul eHandl eRead1B11)
if(status .ne. TK _SUCCESS) then
wite(6,*) * TRWinput file open error’
stop
end if
c check met adat a

status = TKreadMet adat al nt ( gr anul eHandl eRead1B11,
$ TK BEGQ N DATE, begi nDate)

status = TKreadMet adat al nt (gr anul eHandl eRead1B11,
$ TK BEG N_TI ME, beginTi re)

status = TKreadMet adat al nt (gr anul eHandl eRead1B11,
$ TK END DATE, endDate)

status = TKreadMet adat al nt (gr anul eHandl eRead1B11,
$ TK END TI Mg, endTi ne)
wite(6,(1x,a,i4,a,i2,a,i2)")
$ * beginDate = ‘, begi nDat e. t kyear, ' /*,
$ beginDate.tknmonth,‘/’, beginDate.tkday
wite(6,(1x,a,i4,a,i2,a,i2)")
$ * beginTinme = ‘, begi nTi ne. t khour, "’ : *,
$ beginTine.tkmnute, :’, beginTi ne.tksecond
wite(6,(1x,a,i4,a,i2,a,i2)")
$ * endDate = ‘,endDate.tkyear,’/‘,
$ endDate.tknonth,‘/’, endDate.tkday
wite(6,(1x,a,i4,a,i2,a,i2)")
$ * endTine = ‘, endTi ne. tkhour, ' :*,
$ endTine.tkninute, ‘:’, endTine.tksecond

status = TKreadMet adat al nt (gr anul eHandl eRead1B11,
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600

$ TK ORBIT_SIZE, iorbitSize)
wite(6,*) * orbitS ze =
nunber O Scan = iorbitSize

‘, iorbitSize

read scan by scan */
do 10 i Scan=1, nunber & Scan

status =
$ TKr eadScan( gr anul eHandl eRead1Bl1, read_L1B11_dat a)
if( status .ne. TK SUCCESS ) then
wite(6,*) ‘ Read Scan Error’
el se
do 20 ih=1, 208
write(6,600) iScan, nunber O Scan,
read_L1B11 dat a. scanTi ne. year,
read_L1B11 dat a. scanTi ne. nont h,
read_L1B11_dat a. scanTi ne. dayOf Mont h,
read_L1B11 dat a. scanTi rme. hour,
read_L1B11 data. scanTi ne. n nut e,
read L1B11 data. scanTi ne. second,
i h,
read_L1B11 data. geol ocation(1,ih),
read_L1B11_dat a. geol ocati on(2, i h)
“,i5,7/,i5,
ScanTime : ‘,i4,'/[",i2,"/",i2,i3,":",i2,’
IFOV : “,i3,
Lat,Lon : *,f9.3,",",f9.3)

R R e A R - R

format( * scan :

&+ &

$ ‘

| owResCh

Ch 1: 10G+ Verti cal
Ch 2 : 10GH Horizontal
Ch 3 : 19G+# Verti cal
Ch 4 : 19GH Hori zontal
Ch 5: 21GH# Verti cal

2,

c

Ch 6 : 37GH# Vertical
Ch 7 : 37G+& Hori zontal
hi ghResCh

Ch 1 : 853+ Vertical
Ch 2 : 85@Hz Hori zont al

Bri ght ness tenperature (K)
if(mod(ih,2).eq.1) then
il =(ih-1)/2+1
wite(6,610) (read_L1B11 data.l owResCh(j,il),j=1,7),

$ (read_L1B11_dat a. hi ghResCh(j,ih),j =1, 2)

610

620

20

10

format ( 9(1x,f8.3) )
el se

wite(6,620) (read_L1B11 _data. hi ghResCh(j,ih),j=1,2)
format ( 63x, 2(1x,f8.3) )
end if

conti nue
end if
conti nue

cl ose TRW dat a

stat us = TKcl ose( granul eHandl eRead1B11)

stop
end
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3A25

C*************************************************************

O O o o o o o o o

PR 3A25 data check

Li sting 3A25 netadata and rainfall (mihr) for gridl

Usage: %f_3a25rd ‘ 3A25_Fi | e_Nane’

24. JUN 1998. Programmed by M KACH @ORC
This programis FREEWARE, so there i s NO SUPPCRT.

C*************************************************************

program mai n

#i ncl ude “TKfortranDecl are. h”
#include “1Qh”

#i nclude “1 O PR h”

record /L3A 25 GRID L3A25Gid
record / WRAPPER _HANDLE/ gr anul eHandl e3A25

record / DATE STR'  begi nDat e
record / TI ME_STR'  begi nTi e
record / DATE_STR' endDate
record / TIME STR  endTi ne

Const ant s
paraneter (idime72, jdi me16, kdi me6)

Vari abl es
i nteger status

character*100 argv

Begi n

c Define input file nane
marg = i argc()
if( mrg .ne. 1) then
wite(6,*) ‘' USAGE: 3A25 out 3A25 | nput Fi | eNane’
stop
end if
call getarg( 1, argv )
c Qpen input file
wite(6,*) ‘Input File : ', argv
status = TKopen( argv, TK L3A 25, TK READ O\LY,
$ granul eHandl e3A25)
i f(status .ne. TK_SUCCESS) then
wite(6,*) * TRWinput file open error’
stop
end if

c Check net adat a

status = TKreadMet adat al nt (gr anul eHandl e3A25,
$ TK BEGQ N DATE, begi nDat e)
wite(6,'(a,i4,a,i2,ai2)")
$ * begi nDate = ', begi nDate. tkyear,’' /",
$ beginDate.tknonth, /', beginDate.tkday
status = TKreadMet adat al nt ( gr anul eHandl e3A25,
$ TK BEA N _TIME, begi nTi ne)
wite(6,‘'(a,i4,ai2,ai2)’)
$ ‘ beginTime(UTQ) = *, begi nTi ne. tkhour, " :*,

$ beginTine.tkmnute, :’, beginTine.tksecond

status = TKreadMet adat al nt ( gr anul eHandl e3A25,
$ TK_END DATE, endDate)
wite(6,'(a,i4,ai2,ai2)’")

$ * endDate = *‘,endDate.tkyear,'/",

$ endDate.tknonth, /', endDate.tkday

status = TKr eadMet adat al nt (gr anul eHandl e3A25,
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$ TK END TIME, endTi ne)
wite(6,'(a,i4,ai2,ai2)")

$ * endTi me(UTC) =, endTi ne. tkhour, ' :*,
$ endTine.tkmnute,‘:’, endTi ne.tksecond
c Read grid data

status = TKreadGi d(granul eHandl e3A25, L3A25G i d)

if( status .ne. TK_SUCCESS ) then
wite(6,*) ‘TKread error!’
stop

endi f

c Wite hourly rainfall
wite(6,*) ‘Lat=16 Lon=72 |l ev=1 rain=,
$ L3A25@ i d. gri d1. rai nMeanl( 16, 72, 1)

c d ose
status = TKcl ose( gr anul eHandl e3A25)

c End
stop
end
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